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&4D8DK.  е7улLт4т

4пDелL <49 8N=L 8NлL 467уEт Eе=тO5DL октO5DL

�D86етEт6е==K9  4EGет=K9 �кт86=K9 �1�

Ко<плекE=K9 !пеF84лL=K9

�4пуEк т4D8D=о9 л8=е9к8 E уGето< 587=еE пDоD8лO кл8е=т4 пD86ел к D46=о<еD=о<у
D4EпDеделе=8N ко<п4=89 по т4D8D4< Eо7л4E=о пDоD8лN 8E деOтелL=оEт8.

�л4=8Dуе<ое по6KHе=8е доEод4 =4 1 кл8е=т4 подт6еDд8лоEL по 8то74< 4=4л874 отGет=о7о
пеD8од4, DоEт ко<8EE8о==о7о доEод4 EоEт468л 45% =4 кл8е=т4

Л8=е9к4 66еде==KE п4кето6 уEлу7 4кт86=о 8EполL7уNтEO кл8е=т4<8.

КDуп=K9 587=еE пDедпоG8т4ет 5е7л8<8т=Kе т4D8DK, Eоот6етEт6уNI8е 8E тD4=74кF8о==о9
4кт86=оEт8.

�лO <8кDо Eе7<е=т4 пDедEт46лONт 8=теDеE п4кетK пл4те6е9 8 пеDе6одо6 =4 D87 л8F.
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8=оEтD4==KE 64лNт4E 6 Dе68<е о=л49=
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�-�.  е7улLт4т

�еDEо=4лL=K9 ко=EулLт4=т по �-�
1кEклN786=ое 8=д868ду4лL=ое о5Eлу6864=8е 6 D4<к4E уEлу78 «�еDEо=4лL=ое EопDо6о6де=8е �87=еE4 по 6опDоE4<
�1�» - 74кDепле==K9 74 кл8е=то< EотDуд=8к-MкEпеDт 6 EDеDе D8=4=Eо6о7о <о=8тоD8=74, 64лNт=о7о ко=тDолO 8
<е6ду=4Dод=KE D4EGето6, 6748<оде9Eт6уNI89 E кл8е=то< по 6Kделе==о<у к4=4лу E6O78, длO о5еEпеGе=8O
пD8оD8тет=о7о D4EE<отDе=8O 6опDоEо6 8 о5D4Iе=89, пDо6еде=8O пDед64D8телL=о9 MкEпеDт87K 64лNт=KE опеD4F89,
ко=EулLт8Dо64=8O по 6опDоE4< 64лNт=о7о 74ко=од4телLEт64, по<оIL 6 под7ото6ке 6EеE =ео5Eод8<KE доку<е=то6 по
64лNт=о<у ко=тDолN, по<оIL 6 пDедупDе6де=88 =4DуHе=89 64лNт=о7о 74ко=од4телLEт64. 40% полL7о64теле9
п8лот=о7о пDоект4 куп8л8 уEлу7у.

Ко=тDолL пл4те6е9  - GPI тDекеD
�DедоEт46ле=8е 100% кл8е=то6 доEтуп4 к отEле6864=8N пл4те6е9 6 8=оEтD4==KE 64лNт4E 6 Dе68<е о=л49= по
E8Eте<е SWIFT-GPI.

КDо<е текуIе7о Eт4туE4 пл4те64 у кл8е=т4 еEтL 6о7<о6=оEтL у68детL пол=K9 <4DHDут д686е=8O пл4те64 E <о<е=т4
отпD46к8 до е7о текуIе7о <еEтополо6е=8O E ук474=8е< 6Dе<е=8 о5D45отк8 пл4те64 6 уG4Eт6уNI8E 6 пеDе6оде де=е7
54=к4E-поEDед=8к4E 8 удеD64==KE =4 к46до< Mт4пе ко<8EE8OE.

'Eлу74 пDедоEт46лOетEO 5еEпл4т=о 6Eе< кл8е=т4< �4=к4.

!8Eте<4 8=DоD<8Dо64=8O
�4 оE=о6е 4=4л874 потDе5=оEте9 кл8е=то6 6 полуGе=88 8=DоD<4F88, 646=о9 длO 6еде=8O 587=еE4, �4=к =4
поEтоO==о9 оE=о6е оEуIеEт6лOет <еDопD8Oт8O по пDед64D8телL=о<у 8=DоD<8Dо64=8N кл8е=то6 о пDедEтоOI8E
Eо5Kт8OE (о Dе68<е D45отK 8=оEтD4==KE 54=ко6, о 6о7<о6=оEтOE пDо6еде=8O D4EGето6 6 8=оEтD4==KE 64лNт4E 6 д=8,
O6лONI8еEO 6KEод=K<8 6  оEE89Eко9 $едеD4F88; о пDедEтоOI8E пл4те64E по опл4те ко<8EE89 8 т.п.).

�=едDе=4 E8Eте<4 пDедоEт46ле=8O кл8е=т4< 8=DоD<4F88 по 64лNт=о<у ко=тDолN – е6е<еEOG=о к46дK9 кл8е=т
5еEпл4т=о полуG4ет �едо<оEт8 54=ко6Eко7о ко=тDолO по E6о8< ко=тD4кт4< E '�К, Gто по76олOет 6KO68тL
D4EEо6де=8O 8 E6ое6Dе<е==о 8EпD468тL оH85к8, котоDKе <о7л8 пD86еEт8 к =4DуHе=8N 64лNт=о7о 74ко=од4телLEт64
8 те< E4<K< 875е64тL HтD4Dо6 Eо EтоDо=K оD74=о6 64лNт=о7о ко=тDолO.
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�КЦ.  е7улLт4т

LCR Lost Call Rate 8л8 
пок474телL потеDO==KE 
6K7о6о6

5Kло-Eт4ло 3.7%10.8%

ASA EDед=ее 6Dе<O 
о68д4=8O от6ет4 кл8е=то< 14 Eек1.5 <8=

�7<е=е=8O, EпоEо5Eт6уNI8е по6KHе=8N уDо6=O 
EеD68E4:

• �еDеEтDо9к4 <4DHDут4 оGеDед8 опеD4тоDо6 6 �&! 
•  4EH8Dе=8е Hт4т4 опеD4тоDо6
• 'E8ле=8е ко<4=дK 6 пеD8одK п8ко6KE =47Dу7ок
• ФоD<8Dо64=8е 8 поддеD64=8е 6 4кту4лL=о< 

EоEтоO=88 547K «6опDоE-от6ет»
• О5о74Iе=8е д4==K<8 к4DтоGк8 кл8е=т4 6 �&!

10 %
4кт86=KE коDпоD4т86=KE кл8е=то6 е6ед=е6=о о5D4I4NтEO 6 ед8=K9 ко=т4кт=K9 
Fе=тD 54=к4

20 % коDпоD4т86=KE кл8е=то6 8EполL7уNт длO о5D4Iе=8O G4т (DоEт 74 7од 6 2 D474)

80 % коDпоD4т86=KE кл8е=то6 8EполL7уNт длO о5D4Iе=8O телеDо=

5Kло-Eт4ло

94 % 6опDоEо6 DеH4етEO =4 19 л8=88 �КЦ



 47о6K9 кDед8т– MкEпDеEE кDед8то64=8е 
поEт46I8ко6 =4 Wildberries
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КDед8то64=8е WB.  е7улLт4т

! уGето< потDе5=оEте9 DK=к4 поEт46I8ко6 <4Dкетпле9Eо6 5Kл D47D45от4= кDед8т=K9 пDодукт 
« 47о6K9 кDед8т».

�4==K9 пDодукт <4кE8<4лL=о оE64тK64ет потDе5=оEт8 кл8е=то6 D47л8G=KE EDеD тоD7о6л8 8 
пDо876одEт64.  

�DедоEт46ле=8е кDед8то64=8O =4 EDок  до 24 <еEOFе6, 4 т4к6е 6о7<о6=оEтL полуG8тL отEDоGку 
6 упл4те оE=о6=о7о дол74 до 30 к4ле=д4D=KE д=е9, по76олOет кл8е=т4< =4пD46лOтL 
допол=8телL=Kе 74е<=Kе EDедEт64 =4 лN5Kе =у6дK 587=еE4, 6 то< G8Eле 8=6еEт8F8о==о7о 
E4D4ктеD4. 
�лO удо5Eт64 кл8е=то6 5Kл4 пDо876еде=4 опт8<874F8O 587=еE-пDоFеEE4, Gто упDоEт8ло 
пDоFедуDу под4G8 74O6к8 8 EокD4т8ло EDок пD8=Oт8O DеHе=8O до 1 D45оGе7о д=O.

�о6K9 кDед8т=K9 пDодукт у6ел8G8л о5Jе<K пDод46 кл8е=то6 6 2,8 D474, пD8 Mто< кол8GеEт6о 
6Kд4==KE кDед8то6 6о7DоEло 6 1,8 D474.

!о7д4=4 ед8=4O пл4тDоD<4 «кDед8т=K9 ко=6е9еD кDед8то64=8O 
поEт46I8ко6 =4 WB» 

Ш�� 
1

�4O6к4

Ш�� 
2

�=4л87

Ш�� 
3

Ф8=4=E8Dо64=8е



�4Dпл4т=K9 пDоект – <о<е=т4лL=4O 6Kпл4т4 
74D45от=о9 пл4тK EотDуд=8к4< ко<п4=89 5е7 
пD86O7к8 к 54=ко6Eк8< к4Dт4<, 8EполL7уO толLко 
=о<еD телеDо=4 EотDуд=8к4
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!�� QR
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!��.  е7улLт4т

�лO кл8е=то6 Eе7<е=т4 �!� Dе4л87о64л8 пD8е< опл4тK 74 то64DK 8 уEлу78 по QR-

коду. 

!DоD<8Dо64тL QR-код <о6=о 6 �о58лL=о< пD8ло6е=88 8л8, еEл8 кл8е=т пD8=8<4ет 
опл4ту 6 8=теD=ет-<47478=е, =4 E6ое< E49те.
 47D45от4=о API длO Dу=кF8о=4л4 по DоD<8Dо64=8N QR-код4 длO 8=те7D4F88 6 �О 
=4H8E кл8е=то6.
�6е<еEOG=K9 пD8DоEт о5Jе<4 пDо6од8<KE опеD4F89 – 5олее Gе< 6 4 D474.
!еD68E длO кл8е=то6 �4=к4 5еEпл4т=K9.

Кл8е=тK полуG8л8 6о7<о6=оEтL пеDеG8EлOтL 74D45от=уN пл4ту 8 пD8D46=е==Kе к 
=е9 пл4те68 6 лN5о9 54=к по 6ел4=8N EотDуд=8к4 .
! д4тK 74пуEк4 пDодукт4 кол8GеEт6о 74клNGе==KE до7о6оDо6 у6ел8G864етEO 6 4 D474 
е6е<еEOG=о, о5Jе< е6е<еEOG=KE  пDо6од8<KE опеD4F89 по EGет4< у6ел8G864етEO 6 
5-7 D47.
�4Dпл4т=K9 пDоект длO =4H8E кл8е=то6 45EолNт=о 5еEпл4т=K9.



!оEт46 уEлу78 
• �=4л87 6EеE опеD4F89 кл8е=т4 8 пDоD8ле9 

ко=тD47е=то6. �KO6ле=8е Eо<=8телL=KE опеD4F89 
6EеE D4EпDоEтD4=е==KE т8поло789.

• �ок47 Dе9т8=74 =4де6=оEт8 587=еE4, 
DоD<8Dо64=8е Dеко<е=д4F89 по улуGHе=8N 8  
ко<пл4е=E- отGет 6 ��О.

• �оддеD6к4  ко<пл4е=E по<оI=8к4. 
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AML.  е7улLт4т

��ЛО�О��Я 
��� '�К�

О�О �Ч�����
О!&0

!�Я&�� 
��Л�Ч�/%

 ��'&�&�Я �� ��О�/ 
$��.Л�&��К�&��О ��

5

�8лот=K9 74пуEк пDодукт4 «�4де6=K9 587=еE»
пок474л 6KEокуN 748=теDеEо64==оEтL кл8е=то6
полуG4тL Dе9т8=7 =4де6=оEт8 ко<п4=88.

Кл8е=тK оп8D4NтEO =4 Dе9т8=7 пD8 пл4=8Dо64=88
тD4=74кF8о==о7о по6еде=8O, 68дOт к4к 8E оFе=864ет
54=к, пDо6одOт <еDопD8Oт8O длO E=86е=8O D8Eк4
5лок8Dо6к8 по 115-$� (=4пD8<еD – пDо6одOт
5Nд6ет=Kе пл4те68 пD8 п4де=88 пок474телO =86е
=оD<K 8л8 6K58D4Nт 5олее =4де6=KE ко=тD47е=то6
пD8 поO6ле=88 =е74т86=KE E87=4ло6 6 к4те7оD88
« епут4F8O»).

!еD68E пDедEт46ле= 5еEпл4т=о 6 п8лот=K9 пеD8од =4
3 <еEOF4.

Ко<пл4е=E по<оI=8к от6еG4ет =4 6опDоEK кл8е=то6 6
G4те 8л8 =4 телеDо==о9 л8=88, по<о74ет кл8е=ту пD8
4=4л87е полуGе==KE пок474теле9.
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�&О�

� Eоот6етEт688 Eо EтD4те78е9 D4768т8O 54=к4 8 пD8=8<4O 6о 6=8<4=8е поDтDет Fеле6о9 4уд8тоD88, =4G8=4O E <4Dт4 2022 7од4, 
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